
Algebra 2 6-05  Name: ___________________ 

Created by Richard Wright – Andrews Academy  To be used with Big Ideas Algebra 2, 2022 

Algebra 2 

6-05 Graph Exponential and Logarithmic Functions (6.4) 

Exponential Function 

𝑦 = 𝑏𝑥 

• _______________ (b) is a positive number other than 1 

In general 

𝑦 = 𝑎𝑏𝑐𝑥−ℎ + 𝑘 

• a is ______________________ stretch 

o If a is −, _________________ over x-axis 

• c is ______________________ shrink by 
1

𝑐
 

o If c is −, _________________ over y-axis 

• h is ______________________ shift 

• k is ______________________ shift 

• Horizontal asymptote: ______________ 

Graph Exponential Functions 

1. Find and graph the ___________________________________________ 

2. Make a ___________________________ 

3. ____________ points and draw the curve 

4. Make sure the curve is near the _______________________________ at the ____________________ of the graph 

(a) Describe the transformations. (b) Then graph the function.  

𝑔(𝑥) = −2𝑥−3        𝑔(𝑥) = 𝑒2𝑥  

    

Logarithmic Function 

𝑦 = log𝑏 𝑥 

• ______________ (b) is a positive number other than 1 

• Logarithms and exponentials are _______________________ 

 

 

 



Algebra 2 6-05  Name: ___________________ 

Created by Richard Wright – Andrews Academy  To be used with Big Ideas Algebra 2, 2022 

In general 

𝑦 = 𝑎 log𝑏(𝑐𝑥 − ℎ) + 𝑘 

• a is ______________________ stretch 

o If a is −, _________________ over x-axis 

• c is ______________________ shrink by 
1

𝑐
 

o If c is −, _________________ over y-axis 

• h is ______________________ shift 

• k is ______________________ shift 

• Vertical asymptote: __________________ 

Graph Logarithmic Functions 

1. Find and graph the _____________________________________ 

2. Make a _____________________________ 

a. You may need to use the ___________________________ formula 

3. _____________ points and draw the curve 

4. Make sure the curve is near the ______________________________ at the ________________ of the graph 

(a) Describe the transformations. (b) Then graph the function.  

𝑔(𝑥) = − log1
5⁄
(𝑥 − 7)       𝑔(𝑥) = 3 log4 𝑥 − 5  

    

Find the inverse 

1. ____________________ log or exponential part  

2. ____________________ x and y 

3. Then ____________________ as exponential or log 

𝑦 = ln(𝑥 − 1)       𝑦 = 5𝑥 − 9 
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